

02/03/2023

Vendor Ranking Page 1 of 1

 Letting:
 04230203
 February 03, 2023 10:30 AM Call Order: 003
 Contract:
 E4W39

 District:
 District 4
 Counties:
 PALM BEACH
 Fed Aid No: N/A

Contract Time: 181 AVAILABLE DAYS Project(s): 44412115201 (*)

Contract Desc: SR-9/I-95 AT BELVEDERE RD; SOUTHBOUND OFF RAMP

Ra	nk Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	RANGER CONSTRUCTION INDUSTRIES, INC.	Responsive	Winning bid	\$2,588,046.21	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 02/28/23 BEGIN TIME: 10:30 AM

END DATE: 03/03/23 END TIME: 10:30 AM



02/03/2023

Tabulation of Bids Page 1 of 19

 Letting:
 04230203
 February 03, 2023
 Call Order:
 003
 Contract:
 E4W39

 District:
 District 4
 Counties:
 PALM BEACH
 Fed Aid No:
 N/A

Contract Time: 181 AVAILABLE DAYS Project(s): 44412115201 (*)

Contract Descr: SR-9/I-95 AT BELVEDERE RD; SOUTHBOUND OFF RAMP

The Improvements under this Contract consist of, but are not limited to, maintenance of traffic (standard), sediment control (barrier, inlet protection), litter removal and mowing, monitor existing structures (inspection, settlement, vibration), concrete (removal, curb, gutter), asphalt (milling, superpave, friction), drainage (inlets, manholes, manhole adjustments, pipe culvert), pavement markings (detectable, raised, painted, thermoplastic, tape), signing (single-post, multi-post, electronic display sign, highlighted, reflective strip, panel, internally-illuminated, overhead sign structure), lighting (conduit, pull/splice box, conductors, luminaire), signalization (detector loops), electrical (service wire, service disconnect, power service), ITS (conduit, fiber optic, fiber optic locator, communication cable, pull/splice box, cabinet, ethernet, media converter, prestressed concrete pole, UPS, remote power management) at the SB I-95 On/Off-Ramp connection for 0.434 miles in the City of West Palm Beach, Palm Beach County.

PRE-QUALIFIED: Contractor needs to be pre-qualified.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

COMMERCIAL GENERAL LIABILITY INSURANCE:

The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

WORKERS COMPENSATION INSURANCE

Line No / Item ID Alterna	ate Quantity Units	(1) RANGER CO INDUSTR					
() indicates item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0005 0101 1 MOBILIZATION 44412115201	(1.000) LS	245,000.00000	245,000.00				
0010 0102 1 MAINTENANCE OF TRAFFIC 44412115201	(181.000) DA (LS)	340,750.00000	340,750.00				



02/03/2023

Tabulation of Bids	Page 2 of 19
· abalation of Blac	1 ago 2 or 10

Letting: 042	30203 Fe	bruary 03, 2	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) RANGER CO INDUSTR					
() indicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	0001 R	oadway						
0015 0102 60 WORK ZONE SIGN		2,336.000 ED	0.30000	700.80				
0020 0102 71 15 TEMPORARY BARRIER ANCHORED	, F&I,	2,128.000 LF	32.95000	70,117.60				
0025 0102 74 1 CHANNELIZING DEVICE VP, DRUM, OR LCD	E- TYPES I, II, [8,855.000 DI, ED	0.20000	1,771.00				
0030 0102 76 ARROW BOARD / ADVA ARROW PANEL	NCE WARNIN	30.000 G ED	8.25000	247.50				
0035 0102 89 1 TEMPORARY CRASH C REDIRECTIVE OPTION	USHION,	3.000 LO	4,340.00000	13,020.00				
0040 0102 99 PORTABLE CHANGEAE SIGN, TEMPORARY	BLE MESSAGE	159.000 ED	14.15000	2,249.85				
0045 0102115 TYPE III BARRICADE		6.000 ED	0.35000	2.10				
0050 0104 10 3 SEDIMENT BARRIER		1,398.000 LF	2.45000	3,425.10				
0055 0104 18 INLET PROTECTION SY	STEM	8.000 EA	200.20000	1,601.60				



02/03/2023

Tabulation of Bids

Page 3 of 19

Letting	9: 04230203	February 03, 2	023 Cal	l Order: 003		Contract:	E4W39	
	No / Item ID Alternate Description	Quantity Units	(1) RANGER CO INDUSTR					
() ina	licates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	Roadway						
0060 LITTER	0107 1 REMOVAL	1.220 AC	41.10000	50.14				
0065 MOWIN	0107 2 G	0.460 AC	5,890.00000	2,709.40				
INSPEC	0108 1 OR EXISTING STRUCTURES TION AND SETTLEMENT ORING 44412115201	(1.000) - LS	4,710.00000	4,710.00				
	0108 2 OR EXISTING STRUCTURES ION MONITORING 4441211:		3,530.00000	3,530.00				
0080 CLEARI	0110 1 1 NG & GRUBBING 444121152	(0.440) 201 AC (LS)	54,000.00000	54,000.00				
0085 REMOV	0110 4 10 AL OF EXISTING CONCRET	1,051.000 E SY	54.70000	57,489.70				
0090 TREE P	0110 21 ROTECTION BARRIER	831.000 LF	13.40000	11,135.40				
0095 REGULA	0120 1 AR EXCAVATION	1,175.700 CY	13.30000	15,636.81				



Fransportation 02/03/2023

Page 4 of 19

Letting: 042	30203 F	ebruary 03, 20	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) RANGER CO INDUSTR					
() indicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: (0001 F	Roadway						
0100 0120 6 EMBANKMENT		145.000 CY	24.55000	3,559.75				
0101 0160 4 TYPE B STABILIZATION	١	1,434.000 SY	14.80000	21,223.20				
0105 0285703 OPTIONAL BASE, BASE	E GROUP 03	264.000 SY	23.25000	6,138.00				
0110 0285711 OPTIONAL BASE, BASE	E GROUP 11	1,133.000 SY	39.45000	44,696.85				
0115 0327 70 6 MILLING EXISTING ASP PAVEMENT, 1 1/2" AVG		2,543.000 SY	9.70000	24,667.10				
0120 0327 70 11 MILLING EXISTING ASP PAVEMENT, 2 1/4" AVG		1,162.000 SY	10.60000	12,317.20				
0125 0327 70 19 MILLING EXISTING ASP PAVEMENT, 3/4" AVG D		6,693.000 SY	5.55000	37,146.15				
0130 0334 1 12 SUPERPAVE ASPHALT TRAFFIC B	TC CONC,	44.400 TN	425.00000	18,870.00				
0135 0334 1 15 SUPERPAVE ASPHALT TRAFFIC E	TIC CONC,	257 <u>.</u> 800 TN	228.10000	58,804.18				



02/03/2023

Page 5 of 19

Letting: 04230203 Febr	uary 03, 2	023 Cal	Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTRI					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa	dway						
0140 0334 1 55 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC E, PG76-22	192.500 TN	192.80000	37,114.00				
0145 0337 7 25 ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22	332.000 TN	294.10000	97,641.20				
0150 0337 7 81 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22	194.500 TN	282.30000	54,907.35				
0155 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	23.000 Г TN	353.00000	8,119.00				
0160 0425 1921 INLETS, ADJACENT BARRIER, <=10'	2.000 EA	10,600.00000	21,200.00				
0165 0425 2 63 MANHOLES, P-8, PARTIAL	1.000 EA	5,890.00000	5,890.00				
0170 0425 2 91 MANHOLES, J-8, <10'	1.000 EA	13,500.00000	13,500.00				
0175 0430175118 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD	50.000 LF	530.00000	26,500.00				
0180 0521 1 12 MEDIAN CONCRETE BARRIER, SHORT GRADE-SEPARATED	110.000 LF	406.50000	44,715.00				



02/03/2023

Page 6 of 19

Lettin	a : 04	1230203 Fe	ebruary 03, 20)23 Cal	l Order: 003		Contract:	E4W39	
Line	No / Item ID	Alternate	Quantity Units	(1) RANGER CO	NSTRUCTION		Communi	244400	
() in	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 R	loadway						
	0521 113 N CONCRETE S-SEPARATED	BARRIER, TALL	30.000 LF	568.00000	17,040.00				
	0521 72 40 DER CONCRE HEIGHT	TE BARRIER, 38	401.000 B" LF	356.00000	142,756.00				
		TE BARRIER, 38 444121-1-52-01		444.00000	3,552.00				
	0524 2 2 RETE SLOPE P DRCED, 4"	AVEMENT,NON	307.000 SY	76.80000	23,577.60				
0205 GUARE	0536 1 1 DRAIL -ROADW	/AY, GENERAL 1	1,052.000 FL-3 LF	29 <u>.</u> 45000	30,981.40				
TO RIG		FION CONNECT F&I- INDEX 536- 3	1.000 ION EA	3,970.00000	3,970.00				
0215 GUARE	0536 73 DRAIL REMOVA	AL	76.000 LF	1.45000	110.20				
	0536 85 20 PRAIL END TRE NG ANCHORAG		2.000 EA	1,760.00000	3,520.00				



02/03/2023

Tabulation of Bids Page 7 of 19

Letting:	04230203	February 03, 2	023 Ca l	Order: 003		Contract:	E4W39	
Line No / Item Item Descript		te Quantity Units	(1) RANGER CO INDUSTR					
() indicates item	is bid as Lump Sun	7	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway						
0225 0536 85 GUARDRAIL END PARALLEL APPR	TREATMENT-	1.000 EA L	3,870.00000	3,870.00				
0230 0546 71 RAISED RUMBLE PERMANENT		7.000 EA	1,030.00000	7,210.00				
0235 0570 1 PERFORMANCE		1,159.000 SY	6.35000	7,359.65				
0240 0710 111 PAINTED PAVEM STANDARD, WHI	ENT MARKINGS	0.977 6, GM	1,460.00000	1,426.42				
0245 0710 11 PAINTED PAVEM STANDARD, WHI SKIP, 6" WIDE	ENT MARKINGS		440,00000	344.52				
0250 0710 11: PAINTED PAVEM STANDARD, YEL	ENT MARKINGS	0.276 s, GM	1,440.00000	397.44				
0255 0908333 HIGH FRICTION : PROJECT 44412	SURFACE COUR	1,341.000 SE, SY	45.95000	61,618.95				
0260 0999 25 INITIAL CONTINO NOT BID 444121		(1.000) DO LS	50,000.00000	50,000.00				



02/03/2023

Page 8 of 19

Letting:	04230203	February 03, 2	023 Call Order: 003			Contract:	E4W39	
Line No / Item		Quantity Units		ONSTRUCTION RIES, INC.				
•	() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 Roadway

0001 Roadway Section Totals: \$1,722,890.16

	SECTION:	0002	Signing		
	0700 1 11 POST SIGN, T, UP TO 12 S	F&I GROUND F	6.000 AS	567.00000	3,402.00
	0700 1 12 E POST SIGN, T, 12-20 SF	F&I GROUND	18.000 AS	1,640.00000	29,520.00
	0700 1 13 E POST SIGN, T, 21-30 SF	F&I GROUND	3.000 AS	1,440.00000	4,320.00
		F&I BARRIER 1/700-013 UP T	1.000 AS	1,640.00000	1,640.00
		F&I BARRIER 1/700-013, 12-2	1,000 AS	1,730.00000	1,730.00
0290 SINGLE	0700 1 50 E POST SIGN,	RELOCATE	1.000 AS	1,140.00000	1,140.00
0295 SINGLE	0700 1 60 E POST SIGN,	REMOVE	21.000 AS	23.30000	489.30



02/03/2023

Tabulation of Bids

Page 9 of 19

Letting: 04230203 Febr	uary 03, 2	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTRI					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sign	ing				_		
0300 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF	1.000 AS	9,670.00000	9,670.00				
0305 0700 2 60 MULTI- POST SIGN, REMOVE	1.000 AS	931.00000	931.00				
0310 0700 3206 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 101-200 SF	3.000 EA	17,700.00000	53,100.00				
0315 0700 3626 SIGN PANEL, REMOVE, 101-200 SF WITH LIGHTING	2.000 EA	7,070.00000	14,140.00				
0320 0700 3627 SIGN PANEL, REMOVE PANEL, 201-300 SF WITH LIGHTING	1.000 EA	10,000.00000	10,000.00				
0325 0700 4113 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 31- 40 FT	1.000 EA	147,000.00000	147,000.00				
0330 0700 4612 OVERHEAD STATIC SIGN STRUCTURE, DEEP FOUNDATION REMOVAL, CANTILEVER	1.000 EA	35,300.00000	35,300.00				
0335 0700 6 11 HIGHLIGHTED SIGN, F&I GROUND MOUNT- AC POWERED, UP TO 12 SF	1.000 AS	12,400.00000	12,400.00				



02/03/2023

Page 10 of 19

Letting:	04230203	February 03, 2	023 Cal	Order: 003		Contract:	E4W39	
Line No /		Quantity Units	(1) RANGER CO INDUSTRI					
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0002	Signing						
HIGHLIGHTE	0 6 21 ED SIGN, F&I GROUND LAR POWERED, UP TO	1.000 AS 0.12	14,700.00000	14,700.00				
ELECTRONIC & INSTALL G POWERED, S	D 11262 C DISPLAY SIGN, FURI ROUND MOUNT- SOL/ SPEED FEEDBACK B BEACON, 12-20 SF		27,100.00000	27,100.00				
SIGN BEACC	0 12 12 DN, F&I GROUND MOU D, TWO BEACONS	2.000 NT- AS	10,600.00000	21,200.00				
RETROREFL	0 13 15 ECTIVE SIGN STRIP- ID INSTALL, 5'	8.000 EA	86.70000	693.60				
	6 1 3 EMENT MARKER, TYP	388.000 PEB EA	3,55000	1,377.40				
0365 0710 PAINTED PA' SURFACE 44	VEMENT MARKINGS, I	(1.000) FINAL LS	5,970.00000	5,970.00				
THERMOPLA	1 11123 ASTIC, STANDARD, WH OR CROSSWALK AND JT		2.30000	388.70				
THERMOPLA	1 11124 ASTIC, STANDARD, WH OR DIAGONALS AND	46.000 HITE, LF	3.65000	167.90				



on 02/03/2023

Page 11 of 19

Letting:	04230203	February 03, 2	023 Ca l	Order: 003		Contract:	E4W39	
Line No / I		e Quantity Units	(1) RANGER CO INDUSTR					
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0002	Signing	_					
THERMOPLA	11125 STIC, STANDARD, WI DR STOP LINE AND	168.000 HITE, LF	5.00000	840.00				
0385 0711	11160	22.000	70.70000	1,555.40				
THERMOPLA MESSAGE OF	STIC, STANDARD, WI R SYMBOL	HITE, EA						
0390 0711	11170	9.000	58.90000	530.10				
THERMOPLA: ARROW	STIC, STANDARD, WI	HITE, EA						
THERMOPLA WHITE WITH	14560 STIC, PREFORMED, BLACK CONTRAST C PAVEMENT, MESSAG		630.00000	3,780.00				
0400 0711	15101	0.215	7,300.00000	1,569.50				
	STIC, STANDARD-OF PHALT SURFACES W							
0405 0711	15102	0.059	9,800,00000	578.20				
	STIC, STANDARD-OF PHALT SURFACES, W							
0410 0711	15131	1.380	1,880.00000	2,594.40				
GRADED ASF	STIC, STANDARD-OF PHALT SURFACES, W) SKIP OR 3-9 LANE [HITE,						



02/03/2023

Tabulation of Bids	Page 12 of 19
rabulation of blus	Page 12 01 19

Letting : 04230203 Feb	ruary 03, 2	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTR					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sig	ıning						
0415 0711 16101	0.199	6,270.00000	1,247.73				
THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	GM						
0420 0711 16102	0.113	8,430.00000	952.59				
THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 8"	GM						
0425 0711 16201	0.161	6,530.00000	1,051.33				
THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	GM						
0430 0713103101	0.045	34,400.00000	1,548.00				
PERMANENT TAPE, WHITE, SOLID, 6" FOR CONCRETE BRIDGES	GM						
0435 0713103102	0.030	51,600.00000	1,548.00				
PERMANENT TAPE, WHITE, SOLID, 8" EXIT LANE AT INTERCHANGE ON CONCRETE PAVEMENT	GM						
0440 0713103131	0.244	10,900.00000	2,659.60				
PERMANENT TAPE, WHITE, SKIP/DOTTED, 6" FOR CONCRETE SURFACES	GM						
0445 0713103331	0.244	10,900.00000	2,659.60				
PERMANENT TAPE, BLACK, SKIP/DOTTED, 6" FOR CONCRETE SURFACES	GM						
0002 Signing Section	on Totals:		\$419,494.35		ı		



02/03/2023

Tabulation of Bids Page 13 of 19

Letting: 04230203 Feb	ruary 03, 20	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTR					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Lig	hting						
0450 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH	178.000 LF	35.35000	6,292.30				
0455 0630 2 16 CONDUIT, FURNISH & INSTALL, EMBEDDED CONCRETE BARRIERS AND TRAFFIC RAILINGS	227.000 LF	36.50000	8,285.50				
0460 0630 2 65 CONDUIT, REMOVE, BRIDGE MOUNT	479.000 LF	32.95000	15,783.05				
0465 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	3.000 EA	2,140.00000	6,420.00				
0470 0639 2 1 ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	405.000 H LF	9.40000	3,807.00				
0475 0639 2 6 ELECTRICAL SERVICE WIRE, REMOVE	479.000 LF	1.55000	742.45				
0480 0715 11211	8.000	2,590.00000	20,720.00				
LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY, COBRA HEAD	EA						
0003 Lighting Secti	on Totals:	•	\$62,050.30		'		



02/03/2023

Tabulation of Bids	Page 14 of 19

Letting	g: 04	1230203 F	ebruary 03, 20	023 Cal	II Order: 003		Contract:	E4W39	
	No / Item ID Description	Alternate	Quantity Units	(1) RANGER CO INDUSTR					
() inc	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0004	Signalization						
0485	0660 2106		2.000	4,120.00000	8,240.00				
LOOP A	SSEMBLY, F8	kl, TYPE F	AS						
	0004 Si	ignalization Se	ction Totals:		\$8,240 . 00				
		•			,				
-									
	SECTION:	0005	Intelligent Tran	sportation Syste	m				
0490	0611 1 1		0.330	6,240.00000	2,059.20				
	SUBSURFACE	ROJECT LENG	MI H						
0495	0611 2 2		1.000	2,470,00000	2,470,00				
		CUMENTATIO		2,110.0000	2,170.00				
ITS SITE									
0500	0630 2 11		663.000	42.40000	28,111.20				
CONDU TRENCI		& INSTALL, OP	EN LF						
0505	0630 2 12		713.000	64.80000	46,202.40				
CONDU	IT, FURNISH 8	& INSTALL,	LF		,				
DIRECT	IONAL BORE								
0510	0630 2 15		110.000	68.30000	7,513.00				
CONDU MOUNT		& INSTALL, BR	IDGE LF						
0515	0633 1111		110,000	5.90000	649.00				
		F&I, OVERHE		3.55500	5.3.00				
2-12 FIE	BERS								



02/03/2023

Tabulation of Bids Page 15 of 19

Letting: 04230203 Febr	uary 03, 20	023 Cal	l Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTRI					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 Inte	lligent Tran	sportation Syster	n .				
0520 0633 1121 FIBER OPTIC CABLE, F&I, UNDERGROUND,2-12 FIBERS	1,198.000 LF	5.90000	7,068.20				
0525 0633 1420 FIBER OPTIC CABLE, RELOCATE, UNDERGROUND	908.000 LF	4.45000	4,040.60				
0530 0633 2 31 FIBER OPTIC CONNECTION, INSTALL, SPLICE	20.000 EA	70.70000	1,414.00				
0535 0633 3 12 FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE TRAY	3.000 EA	87.10000	261.30				
0540 0633 3 13 FIBER OPTIC CONNECTION HARDWARE, F&I, PRETERMINATED CONNECTOR ASSEMBLY	12.000 EA	94,20000	1,130.40				
0545 0633 3 16 FIBER OPTIC CONNECTION HARDWARE, F&I, PATCH PANEL- FIELD TERMINATED	1.000 EA	1,750.00000	1,750.00				
0550 0633 3 17 FIBER OPTIC CONNECTION HARDWARE, F&I, CONNECTOR PANEL	1.000 EA	176,60000	176.60				
0555 0633 3 51 FIBER OPTIC CONNECTION HARDWARE, ADJUST/MODIFY SPLICE ENCLOSURE	1.000 EA	859.50000	859.50				



02/03/2023

Tabulation of Bids

Ρ	ag	е	1	6	O	f 1	9

Letting:	04230203	February 03, 20)23 Cal	Order: 003		Contract:	E4W39	
Line No /		Quantity Units	(1) RANGER CO INDUSTRI					
() indicates	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0005	Intelligent Tran	sportation Syster	n				
0560 063 FIBER OPTIO	3 6 C CABLE LOCATOR	181.000 DA	706.50000	127,876.50				
MULTI-CONE	3 8 1 DUCTOR COMMUNICAT NISH & INSTALL	552.000 FION LF	12.95000	7,148.40				
	5 2 11 ICE BOX, F&I, 13" x 24" E	8.000 EA	2,140.00000	17,120.00				
	5 2 12 ICE BOX, F&I, 24" X 36" E	7.000 EA	4,830.00000	33,810.00				
	5 3 11 BOX, FURNISH & INSTA	1.000 LL, EA	1,880.00000	1,880.00				
ELECTRICAL	9 1122 L POWER SERVICE, F& UND, METER PURCHA: CTOR		8,010.00000	8,010.00				
	9 2 1 L SERVICE WIRE, FURN	634.000 NISH LF	14.15000	8,971.10				
	9 3 11 L SERVICE DISCONNEC IOUNT	2.000 CT, EA	4,590.00000	9,180.00				



02/03/2023

Page 17 of 19 **Tabulation of Bids**

Letting: 04230203 Febru	uary 03, 2	023 Cal	Order: 003		Contract:	E4W39	
Line No / Item ID Alternate (Item Description	Quantity Units	(1) RANGER CO INDUSTRI					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 Intel	ligent Tran	sportation System	n .				
0600 0641 2 12 PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	2.000 EA	4,120.00000	8,240.00				
0605 0660 7 22 VEHICLE DETECTION SYSTEM- WRONG WAY FOR EXIT RAMP, 3 OR MORE LANES, AC POWERED	1.000 EA	10,000.00000	10,000.00				
0610 0676 2143 ITS CABINET, FURNISH & INSTALL, BASE MOUNT, 334, 24" W X 66" H X 30" D	1.000 EA	20,000.00000	20,000.00				
0615 0676 2500 ITS CABINET- ADJUST/MODIFY	1.000 EA	4,120.00000	4,120.00				
0620 0684 1 1 MANAGED FIELD ETHERNET SWITCH, FURNISH & INSTALL	1.000 EA	7,070.00000	7,070.00				
0625 0685 1 11 UNINTERRUPTIBLE POWER SUPPLY, FURNISH AND INSTALL, LINE INTERACTIVE	1.000 EA	6,120.00000	6,120.00				
0630 0685 2 1 REMOTE POWER MANAGEMENT UNIT- RPMU, FURNISH AND INSTALL	1.000 EA	2,120.00000	2,120.00				
0005 Intelligent Transportation Section	n Totals:		\$375,371.40		'		

System



f Transportation 02/03/2023

Page 18 of 19

Letting:	04230203	February 03, 2	023 C a	all Order: 003		Contract:	E4W39	
Line No / Item ID Alternate Quantity Item Description Units		(1) RANGER CONSTRUCTION INDUSTRIES, INC.						
() indicates item	() indicates item is bid as Lump Sum			Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$2,588,046.21				



02/03/2023

Page 19 of 19

Tabulation of Bids

Letting: 04230203 February 03, 2023 **Call Order:** 003 **Contract:** E4W39

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.